H .|| Recurring Decimals to Fractions
(\REVISE THIS
L

1 Express 0.5 as a fraction in its simplest form.
You must show all your working.

(Ox= S-.65 S§6§...
xX= (0D SSSS...
92 = S

L= 2
9

S
>

(Total for Question 1 is 2 marks)

2 Express 0.71 as a fraction in its simplest form.
You must show all your working.

\O’D)(;7|-7 7\ 7|
x=0-71 7177 1. ..
C\%L.—.‘-I—\
3(.‘-3'_\_
aq

7L
99

(Total for Question 2 is 2 marks)
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3 Express 0.45 as a fraction in its simplest form
You must show all your working.

(00x = & S-4S

(Total for Question 3 is 3 marks)
4 Express 0.214 as a fraction in its simplest form

You must show all your working.

1000 = 21%-21% 214 214

L= O2¢L%24 ..
119x = 21 4

L: l"'\'
199

9)
Ei

(Total for Question 4 is 3 marks)

5 Express 0.324 as a fraction in its simplest form
You must show all your working

1000x = 224 - 224 324 22¢...
x = O.324 2242w,
AA9q .- 3y
= 22 B - 36 . D
qqq 999 |0 F

2
=
A
(Total for Question 5 is 3 marks)
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6 Express 0.53 as a fraction in its simplest form.
You must show all your working.

I0Dx=5%-23 3 173
x= 0-S23 232 ..

A0x = 44 @ - 8

x=43_
qO Q0 S %

(Total for Question 6 is 3 marks)

7 EXxpress 0.124 as a fraction in its simplest form.
You must show all your working.

OO0y = 124 Ltllhtk b ¢ &
— 100e= 124444 § Wi
x> O0- 124 44l

100 =\ 12 _ll/L_;_Z‘Z/

_ iy
x= A0 23S 23
400 25

(Total for Question 7 is 3 marks)

8 Express 0.423 as a fraction in its simplest form.
You must show all your working.

000x=423-232 L 2 32..

- Ox= 4 .23%32 3v2 32

x= O- 623 2% 27
1902 = 419

- WA
* 0 w2

: (Total for Question 8 is 3 marks)
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9 Express 0.038 as a fraction in its simplest form.
You must show all your working.

(OD0x=38- 2 8 2 ¥ 3973 ..

- Ox= 0-2 %3 ¢ 3383%..
x= O 03¢ 3% 18%8..

A40x= 2P 22 _ 1
23
X 725 Q0 S ﬂs

(Total for Question 9 is 3 marks)

10 Express 3.62 as a fraction in its simplest form.
You must show all your working.

1002=362 -6 L 672 67 ..
x> 3-62 62 6 2 ...
A9 2= 1S9
x> 359

aa 254
—_
T

(Total for Question 10 is 3 marks)

11 Express 0.3i6i as a fraction in its simplest form.
You must show all your working.

10000 =316]:- \6 11| \GII ...

— Dx= V16161 161)...
x= 0O0-2\6\16V\06\ ..
9Q90x= 3\S8 2USY - 1979

. ms8 G WS
X 330 4911 <39

, (Total for Question 11 is 3 marks)
4
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12 Work out 0.68 —0.27
You must show all your working.
Give your answer as a fraction in its simplest form.

|002=68-838Q €3 .. |00y=11-"77777 ...
I0x= 6- ¥88%8 ... Dy= L1777 ...
x=0-6839%¢... y=0-21711...
°le.=6?_ QOS—,’IS
x =b -2
%5 330
b2 _ 15 . 3
[ qO 9
5y

(Total for Question 12 is 5 marks)

13 Work out 0.53 x 0.16
You must show all your working.
Give your answer as a fraction in its simplest form.

001=53-33 221 .. |00y=16 66 666...
I0x=5-33 233 . Dw=1- 66666 -
x=0-S2233%%... 4y=0-16666 ...

C]OL L\'g qO\j‘»\S
X = (-\‘ x:g - \S /l
a0 q,S 3 Q0 J b

z*f\( = 4%
,8\ &S

Y

(Total for Question 13 is 5 marks)
5
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14 Work out 0.08 - 3.63
You must show all your working.
Give your answer as a fraction in its simplest form.

001-2-8%Q¢38 .. |00y =%3-626362...
I0x=0- ¥88%8 ... Dy=36-3626736...
x=0-08¢%8%... - uy=3.616263...
Q0x = %3-360
-2 _ 40
X -
40 37

¥ 9 - W
% WO\ ¢ Y50 "

1O —_—

4SO

X

(Total for Question 14 is 5 marks)

2
e o\3
15 Work out (0.296)

You must show all your working.
Give your answer as a fraction in its simplest form.

1000x. =246 296 196296 ...
L = 0.296296296 ...

199y = 296

_Q
1= 296 T3
799 5
= 2 Y ‘6,\”:@51
7 \3
0

Tx 3y 1x’}z¥

_~

: (Total for Question 15 is 5 marks)
6
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